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DIRECTIONS FoR ysp OF TABLES
\

mn and top row, The number jn body

of table in same row and colump gives distance
from side stakd ¢ slope stake,| I ground is not
level estimate the difference in elevation between
the side stake and slope stake, lower target by this
amount if cyt, elevate if fll. Add this amount
to cut or fill and fing distance in gable, Set up
rod at this Point;-and' line of sight' should 'yt
target. If it does not make the slight adjustment
necessary,

TABLE N o. 9,

To find Tangent and Extemal for curve of
any other degree, divide by degree of curve and
add correction found in column of Corrections,

Degree of curye with a given | may be found
by dividing tangent, (or external), opposite | by
given tangent, (or external),

The distance from a

e curve is very nearly th
length divided by twice the radius,

.

TasLe II
TRIGONOMETRIC FORMULAZ,

= 1 =0T =sec B=0QT
| Curvature of Earth’s surfaqztla) =t a_bouti l(‘);s’;gfeet in 1 mile
‘ i t = 0,667 (Dist. in m - : ’
" CD%:::E;; ;)l:a:;zen arc and chord length, 0.05 feet in 11 14 miles
3 zvz
Probable error of a single observation — 0.6754’ oy

! Error in chaining of 001 feet in 100 feet:
e to—

th of tape error of 0,01 feet g
;’ kﬁ;imetl)lt. pOne end 1.4 feet out of line

; f tape‘at centre of 0,61 feet.
3. '?‘:xgn;em&ere difference of 15°
5. ' Difference of pull of 15 Ibs:

‘STADIA REDUCTION FORMULZ.

i 3 i C cos a
Horizontal Distance — R — R sin? a+t
i i =R 14sin 2'a+C sin a A
el Dlstanc?iietanciéfrom Object glass to cross hairs
R = Reading x

: To8s hairs :
v vy cmrs + distance from Object

= distance from Object glass to cross
' dg]::? t% center o% instrpment.
a = angle of elevation for mid Reading
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ES FOR CROSS-SECTIONING

Roabway oF Any WibTH,

| SIDE STAKE

107

SLOPE 13 70, 1.

e ——————

and multiply by length of chord.
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| o find length of curve divide angle from P. C, to P. T, by central angle d,
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